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L WG 8GR K @nfye’ diem qu Wi we ge | L

g7
(1) 2010
(2) 2014
(3)» 2015
(4) 2021
2. il f A= H 3R TR e & @ 2.

STH-TE TEH FT FEA @ 7

(1) 3IUiseE
@ foe=eE
(3) UlhISaS
(4) T

3. orEdqn @gg Aul o fepr gk we AW G M SET | 3.
ST 2, Wl 8 B Sl 8 7
(1) I8 g9Td TR
(2) YHSI 9PR - e HgEnn
(3y 3T el HETIR

@) et sreaifes wem

TNABH (B4 2)

BITeN At
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When was ‘SVAMITVA’ scheme of Govt. of

India launched in the country?

(1)

(2)

3

(4)

2010
2014
2015

2021

The pollutants which move downwards

with percolating ground water are called

1)

(2)

3

“4)

Earthites

Leachates

Pericardial

Percolates

The busiest sea-route, also known as the

Big Trunk Route, runs through

(1)

(3)

(4)

The North Pacific ocean

The Mediterranean - Indian ocean

The North Atlantic ocean

The South Atlantic ocean

'
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4. g @ e wnan @ gaff%ra H 1 E A 4. The Buddha’s teachings have been
qed: T 91 Sl 8 " reconstructed from stories, found mainly
in the
(1) rEerian (1) Bhagvadgita
(2) W (2) Quran
(3) e (3) Boddhisattva
(4 gulues (4) Sutta Pitaka
5. fFmfafea & @ < wifie wndm shiem & | 5. Who ‘amongst  the followiﬁg is the
gaifeeh qgagg‘f TEH H ¥ U, W 11, < daughter of one of the most important
o 7 rulers in early Indian history,
Chandragupta II?
._',(1) gogadt T (1) Satyavati Gupta
(2) IEd T (2) Prabhavati Gupta
3y IS T (3) Amravati Gupta
’(4) HHOT T _ (4) Kushana Gupta
6. @Wﬁ@aﬁmﬁmaﬁzﬁ‘mﬁ: 6. Complete the pattern with the missing
number
(1) 6 (1) 6
@2 4 2 4
£ 8 @ 8
(4) 17 (4) 17

TNABH (E4-3)
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7 T ey R 3im 27 37 7. Genes are distinct pieces of
1) (1) Plasma
2 SRR @) Cells
@) T (3) Chromosome
W dwWT (4) DNA
8. gl I @ gl I et shifor| 8.  Match List [ with List IT
-1 g-1I List-I List-1I
. A. Natural I Production
A THRsE L T Sl & selection of new
I species
B. wfmm . 3" S =+ B. Speciation II.  Affect
(STITereRaoT) # FE 9 evolution of
Twifed T : other
3 organism
o R L. § < C. Extinction II1. i’:ise )g(fnes
i _ﬂﬁltﬁ generation
F %l D. Coevolution IV. Lossof °
D. wHEHufeem IV. waifadt <0 - species
&7
Choose the most appropriate answer from
Jr feu u fawedl § 9 O IW &1 939 fifu: the options given below:
(1) A-III, B-I, C-II, D-IV (1) A-JII, B-I, C-11, D-IV
(2) A-II B-II, C-I, D-IV (2) A-II, B-IIL C-I, D-IV
43) AL B-IL C-IV, D-II (3) AL B C-IV, D-II
(4) A-1I, B-I, C-IV, D-II (4) A-.IL B-I, C-IV, D-II
9. TR JETH Bl & 9. Ecology is the study of
r(1) 3H fafr =1 i g a0 o & w (1)  Ways in which organisms interact
37 fFam == & with their non-living surroundings
(2) l.i ESLED (2) Environmental variation
3) A faftra = foray :
(3) o ;ﬁa@{a‘(%m 3N (3) Ways in which organisms interact
EEERICHERIREIRED with each other and with their non-
] living surroundings
ORI R I SR . @ Ware in whig oo o
sia e 3 & ays in which organisms interact
’ with each other

TNABH (E4 - 4)
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10. fedlt T H Eji%ﬁ? AT o 10. Occupational structure of a country refers
fercon /et & B < forr i grar 27 to distribution/division on the basis of
A K (1) Land ownership
(2) IRER HT SR (2) Family size
©) ™ (3) Religion
4 ™ (4) Profession
11 gt I @ get 11 frem it 11. Match List I with List I
I 111
Fﬁﬁ List-1 List-IT
A FYP185166- Iy i _ R A. FYP-1951-56 1. Faster and
BRI W inclusive
B. FYP-1956-61 II. w@id growth
Nt B. FYP-1956-61 II. Rapid
i . industrializatio
C. FYP-2007-12 Il wRomRi @ T -
; 3 C. FYP-2007-12 III.Rehabilitation
of refugees and
E;T control of
: EREM inflation
D. FYP-2012-17 IV. TEsite fsi D. FYP-2012-17 IV.Emphasis of
gl W public private
a1 partnership
Choose the most appropriate answer from
Fr fo T foreredl W A HE ST H TH Hifse: the options given below :
(1) A B-IL, C-IV, D-IIT (1) AL BIL CIV, DI
(2) A-II, B-III, C-I, D-IV (2) AL, B C-I, D-IV
(3) A-I B-II, C-III, D-IV (3 A-LBIL CIIL DIV
A4) AL B-II, C-L, D-IV (4) AJI B, C-L D-IV
12, 9 :99 ::9d : 5 12. Square : Cube : : Circle :
(1) Tend (1) Sphere
A2) aﬁqﬁ (2) Ellipse
43) TEEE (3) Parabola
(4) H@ (‘1) Cone
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13. g 1% T g 11 & frem A 18
-1 g=-11
A, T . iaarse
B. @l 1. hammd
C. oregffmm Il FIUs
D. SR IV. qHemEe
9 feu e fRwedl § ¥ o I 1 99 FINT
<(1) A-JIL B-IV, C-1, D-II
(2) A-L B-IL C-IV, D-III
(3) AL B-III, C-IV, D-I
(4) A-IV, B-II, C-II, D-I
14. S 1% 9 ge 1 = fiam fifvm 14.
-1 =HA-11
A TR IW I RS
ET ifgan
B waad I fafmwls
C. @R II. wsee Hifemn
HRIHRIA
D. dfke IV. Wahid
= fou e fosedi o @ 98 SW H = Aif:
(1) A, B-IV, C-I, D-I
(2 A-1,B-I, C-III, D-IV
(3) A-1,B-IV, C-III, D-II
—(4) A1 B-IV, C-1, D-II
15. YIS §1E 5B W I8 ghig @ £, 3 15.
R FHEA 87
o i
f2) e 9=
(3) ASCEI¥S
@) gEEE
. TNABH

(E4 - 6)

Match List I with List II

GET IT ON
Google Play

List-I List-II
A. Copper I Bauxite
B. Iron II. Calamine
C. Aluminium III. Cuprite
D. Zinc IV. Haematite

Choose the most appropriate answer from
the options given below:

(1) AJIL, B-IV, C-L, D-II
2) A B-I C-IV, D-III
(3) AL, B-III, C-IV, D-I
(4) A-IV, B-II, C-II, D-I
Match List I with List II
List-I List-IT
A. Twisted pair 1. Unguided
cable Media
B. HTTP II. Switching
technique
C. Satellite III. Guided
communication Media
D.  Circuit IV. Protocol

Choose the most appropriate answer from
the options given below:

(1)  AJII, B-IV, C-11, D-I
(2) AL, B-I, C-IIL, D-IV
() A-1, B-IV, C-IIL, D-II
(4) AL, B-IV, C-I, D-IT

Supersonic  air planes generate shock
waves, known as

(1)
(2
3)
(4)

Sonic boom

Transition waves
Ultrasound

Transverse waves
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5. S formauE # finee ,
19 T A H U * forg wwa 16. The programme that has been introduced

R G YN fan war rfay @ by the Indian government to address the
issue of decline in child sex ratio is

(1) F@ v A (1) Beti Padhao Yojana

(2 HHA A DA (2) Safal Beti Yojana
~(3) S8 s 9 wgran (3) Beti Bachao Beti Padhao

@ T TS T S (4) Every Girl Education Programme

17. T 1S T 11 & fem i 17. Match List I with List II
-1 -II
« T List-I List-II

A T @i I. |

Marco Polo L. Morocco

B. EsI-Sqdl II. %E Ibn-Battuta II. France

C. 3Ia-fasit III. 3eeit
D. Sergabdm V. INEREE

Al-Biruni III. Italy

O aw »

Francois IV. Uzbekistan

Bernier

Y Reu u fwedi # @ G IR H A HNCG
_ Choose the most appropriate answer from
the options given below:
(1) A-IBI0I CI, D-IV (1) A1 B-II CIL D-IV
(2) A, B, C-IV, D-II (2) AL B CIV,D-II
48) AL B-II, C-IV, D-II (3) A-1,B-II, CIV,D-II

(4) A, B-IV,C D-III (4) A-IL B-IV, C-I, D-III

18. “WRdR qUded WEA 1 foar fon <het STt 27 18. He is often known as the ‘father of Indian
archaeology’
(1) omHE g (1) Thomas Munro
) faferam sfew (2) William Bentink
3) FTFA HiEH (3) Alexander Cunningham
(4) IR {1 (4) Alexander Reed

TNABH (E4-17)


https://applink.adda247.com/d/XhqWf9lSap

A

Addal247

19. F=faRea J@en = @
112.4, 100, 87.6, 75.2, ?

(1) 80.4

(2) 87.4

~(3) 628

(4) 624

20. T TS IE R

2.5,4.25,6,7,9.5

A 775
(2) 17.05
(3) 7.15
(4 17.25

21. == 153 = 1 &1 fedm Sif

=1 -1
(97T & Fa-7g) (31aer)
A FHMEA L e
B. Efew Il g

2w

C. UEARs =Sar 1. d&Hu—
IV. ufEseay

D. Im

Ir= feu U faF2A1 4 4 9El I =991 fifw:

A)  A-IV,BII, CII, D-I
(2) A-1L B-1V, CI, D-III
(3) A-LB-I CIV,D-III
(4) AL B-II, C1I,D-IV

(E4-8)

19.

20.

21.

GET IT ON
Google Play

Complete the following series:

112.4, 100, 87.6, 75.2, ?

1)
(2)
(3)
4)

80.4
87.4
62.8
62.4

Find the missing number:

2.5,4.25,6,7,9.5

1 1775
@ 1705
3 17.15
4) 17.25
Match List [ with List IT
List-I List-II
(Fauna in India) (Status)
A.  Hornbill I.  Extinct
B. Gangetic II.  Rare
Dolphin
C. Asiatic III. Endangered
Cheetah
D. Sangai IV.  Vulnerable

Choose the most appropriafe answer from

the options given below:

o))
(2)
@)
(4)

A-IV, B-IIL, C-I1, D-I
A-II, B-IV, C-I, D-III
A-1, B-II, C-IV, D-I11
AL, B-I1, C-1, DIV
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22.

23.

24.

25.

TNABH

A

ﬁﬂ%@ﬁ@aﬁqm@aéﬁm%mﬁésﬁm 22.
(1976) o wmfia & o7
(1) ST = vl 3 afEdq R
(2) 384 10 M sl 6w 6T
(3) TS <l THal A Seed W U I Thal 3N
FA@ear foma )
(4) TacH H Y H 21 9§ ¥ v 18 T4
o
gqﬁzgm@aﬂﬁzm(!l@étﬁ)m 23.
TETerd el JTEfed 37
(1) S
«2)
(3) fama
(4)
Sa B FEd & % NG § 99 wEE el 7, | 24.
A zgT @1 31 BT 27
1) @t A S GEE A, S
3t Terifaes PR 9gE Tl
@ wft e W e I
EaFdl IgH HTT
(Q %m%ﬁﬁmﬂ’&ﬁﬁ"{gﬁ%m
F@ HrE wn ok fol o
Fifren B
@) 18ad @ IW N Y F wh =FE
el DEACS
T % e a1 AR I SN T | 26,
ufrg wewd wH A7
(1) Heard aE@
(2) di.ug. TEdie
(3) w2
) g
(E4-9)

GET IT ON
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Which of the following was not included
in the 42 amendment (1976) to the
Indian Constitution?

(1) Change in the wording of preamble
(2) Laid down 10 fundamental duties

(3)  Unity of the nation changed to unity
and integrity of the nation

(4) Reduced the voting age from 21 to
18 years

State the place where United Nations
(UNEP)

Environment Programme

headquarter is situated

(1) Geneva
(2) Nairobi
(3) Lyons
(4) Cario

When we say that we have federal system

of governance in India, what does it

imply?

(1) provides equal social, economic and
political opportunities to all citizens

(2) guarantees freedom of faith and
worship to all citizens

(3) different states or provinces of the
country have powers to make their
own laws and decisions

(4) voting right to all above age of 18

Who was the youngest ever, and only
Asian, member of ‘Grand Salon’ in paris?

(1) Nandlal Bose
(2) V.S. Gaitonde
(3) Manishi Dey

(4) Anmrita Sher-Gil
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g9, forg @1 @@ & A fierr Hif)

26. Fafofaa 4 @ s 1 wifem wv 37 -
V3 kSl o
£2) G A, 0 A TH I. 33 ad™
(3) A p. e g S wh 11 e A we
@ C. gua % gaw 111 FH9RE qum
27. ?qﬁf@aﬁﬁ‘m’mﬁ%aﬁaﬁm?é’f D. i i 1V, deqeT FaTH
- 31 fog e el @ w8 T A
(2) @ (1) AL B-I, C-II, D-IV
(3) eI 2 A B-I CIII, D-IV
o A A3) AV, B-IIL C-II, D-I
28. “HIEHI, GO - T WGl H TE TeAF BT - (4) A-IV, B-II1, C-1, D-II
1 = ‘
(2 W 33. ‘WM H IS WH @A A 3 @ifed
(8) 3 T % fore frefafead § 8w e 2 -
=i (1) g
29. ﬁw‘mﬁgﬁpﬁaﬁmm%- (2) 3IEvHy
g; aﬁ;zq 3) TfraTRie
& Qv
@ = 4y TE
(4 = o : ;'ﬁg .
30. “HGH AT A % T 31’ AT H g B9 1) AL
Frm|
(1) e o o 3 @ S
(2) T 9 o T A 2 @ =
(3) T I amfl F T I ) ) iy
44) T I AW % oA 2| |
31. A 1% @ g 1 1 faem Hifery s ﬁt‘%ﬁ?ﬁﬁ@ﬁuaﬁmmgﬁmﬁ
I AT 1 el T g
A HWa+fm 1 #dy A SI-dren g
B. #f1 + 33 I1. forarer B. s fewrn
C. ¥ + i 111 weft C. @
D. @ + A 1V, 32 D. ST SIege g
H3 few 0 foredi B & w3 o = Hifor, gaﬁqum
(1) AV, B-I, C-III, D-II (1)  Faw ﬁﬁg—g}mmwml
(2) A'L B-IV, C—III, D-II (2) 3?4?—[ B & N E
(3 AL BIL C.IL DIV A B CD
& AL B CIV, DI NG S a, C,D,E
(4) WAIC,B,E
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36. ‘Wﬁwméa@a%ﬁﬁma'—aﬁaﬁ%%g
3fa ared @ -
A1) BFRR F a0 W A @ v 2 o )
(2) B T 98 S g
@3) N & uwa AR
(4) BTSN T A @/

37. fmafofied wdi & foefin gm w2 -

. s - s
= fou fomedi 3 | 98 30 &1 957 Hifg
() %84 B,C,D, A
(2) 99 C,D,E, A
(3) @ D,E, C,B
A4) HId@ A B,D,E

R e W B EEEE R W W
SERG W (38-42) F R I AR
el A 1 SR IR 81 g
@A F gR F Sr-a @ whe w1 oW
wa_mamﬁwm_@m
el 21 g § wofi i sgfort $ea
B @ Wit &1 FF IR q qUEiAdr H O
e b B -EHEH T A A
A 31 AT T THR % wr-ga fer
W off Fr WOl qEiT w1 AE e
o ¥ fi & ag dan o A geh T8 e B
wmamﬁmgﬁmaﬁmﬁwamﬁ(
A i £ gaEl @ THU 8, i IE
g g e i 35 o W e S
e g mge T 6 i T T
weft & w61 gt agd fod &R, @
R e, Gt 3fi A S H Al FE
& w7 queiig = w1 A R R
s =8l gl

TNABH
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38, frefifiaa # @ ager @1 sfing srfieen @ -
(1) =AfrEdd '
(2) guHiFa
(3)  Tfergan
4) T

39. W % fR 6 FerEt A A, fr v @ e
Rt THEI 87
A1) @A B it @ ae S % fau
2 @R % e # e R g |
(3) 31U W@ H Tk FH & forw
(4) 39 IRER & 9@ M F g

40. YU H1 WE SR B HHE-E Al
3TYET T AT 27
(1) ITE-Fg B A
(2) SieM H
A3 HrE-TE
(4 a6

41. it B vt 79 Sfed & s E¢ 59 97 -
(1) =gd gelt g
42) T A R
(3) i a1 }
(4) ¥EA THA QO 2

42, wuee R 6 fdwar @ -
(1) = e § gu wa @
(2) T8 SN B R \
(/(‘3) g q feell weR w1 =R @
ol
(4) 9% WEas g @

(E4 -11)
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43. T=faRen =1 sfua frem A
-1 g1
A T 1 e d g A
B. WUy 11 i wffm a &
111, fam S R 3=t
&l
V.S 3ff@l & ama 7 8l

C. 3N

D. frm=x

Hr few e foepedi 3 & @t sw w1 = Hif:
) A-II B-1V, C-I1, D-I

(2) A-L B-1, CIII, D-IV

3) A-I, B-III, C-IV, DI

(4) A-1V, B-III, C-I, D-II

44. ‘g1 a9 FF geA @ 98 AU ggE @ -

I 1 T 19 H ST §AT

(1) < o1 e e a9 v s
(2) S S T 8 98 AU IS Rl
AB) I T e AU g B

(4) ™ I o FHA TEaT &

45. ‘GEA % GhE ° @ el gafien T Rureh
1 81" 1 {@ifd qeay 1 adl foahed 21
A1) E deEy
Zf T T ggag
(3) oo ugay
(4) |ITM YgEY

TNABH

46.

47.

48.

49.

50.

(E4-12)

A4)

A2)

GET IT ON
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qrpdi #f wgEd @A S I WE R e

Hifse|
g1 -1
A aE Ea sy 1 e gedam
B. @g s am 11 FreEgers
=TTl S| g™
C. 9g o 3 I11. T&9aT=e HI1
D. f e =en IV. SgAaTE® HEAW

>

ST

H fou o frredt 1 & T I = Hifw:
(1) A-1Iv, B-II C-II, D-I
(2) A-IV,BI C-I,D-II
(3) A-IV, B-II, C-I, D-III
A-IV, B-1, C-II, D-III

AT St Bl @l W) 9 @i
Ue AT & STER T hAT 1 HIH-H1 §9 37
A1) qaeiferes foRa

(2) el fmam

(3) @EwE fshal

@ ge fa

TieIqshTet & Sl 7 3fed foshey 2 -

(1) = Aiqsq &, swfoy yiasq s
W WG HTe1, T Wiasaq Sie
(3) wfew Wi+, 1ol s, et
(4) wmE e, i sfass S

P a3 Y@ifea femo = 92 2
TSt gy &R fore st @ a7y

(1) w& 9= faRwy

(2) 9fE g R

&) ﬁ%ﬁqﬂ‘mmamﬁs}w

‘t@iﬁmwﬁimﬁa%sﬁaﬁmﬁgﬁnz
T R g A

(1) Sﬁﬁ?ﬁ(‘u{m

(2) = e

48)  WYTH wRH

(1)  wEY TR
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51. 51.
43
1) 90
477
@) 100000
47
3 100
437
@ 100
52. mmmﬁmcmmm 52.
e ¢ T gwso B w 21 3R PQ sik
BM @9HR & 3 BM = AM & a1 ~CPQ
1 gRT?
A
M
Q
B
P C
&) «£BAM
" (2 «ABM
3) «PCQ
(4) «CQP
53. afe 30 4 _q afit | 53.
x—y x+Y%
40 . 5 _j3¥diywumem:
x—y x+Yy
(1) 10
@2 5
(3) 11
(4) 24
(E4 - 13)

TNABH

0.4777.... =

GET IT ON
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0.4777....=

43
(1) 90

477
100000
47
100
437
100

2

3)

4

In the given figure,

ABC is

a

non-isosceles right angled triangle, right
angled at B. If PQ and BM are parallel
and BM = AM then £ CPQ is equal to?

A
M
Q
B
P C
(1) ZBAM
@ ZABM
@) <PCQ
@) ~CQP
-0 4 _10ana 20,5
X—-y X+y xX—-y x+y

then xy is equal to :

(1) 10
2 5

@ 11
4) 24

=13
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54. ABC U* fyw 2 @il D, BC &1 nen fag @

g E, AD %1 neg forg 2|

A
E
B
D C
A. ABC & %1 &=wa BED Bya &
&TBA B 4 T 2|
B. ADC fys &1 &=3%d BED @ &
A% HT 2 T 2|
C. ADC ©qa @1 &=awa BED e &
&%l 1 4 T 2|
D. ABC B« &1 &3%a BED fqst &
&I%eT &1 2 AT 2|
Fi= feu 7w fashedi § & @&t IW 1 FTH HIfT;
(1) $aa D
\é) Fad A
@) Fae B
(4) Had AW B

55. mmmﬁa@zﬁémﬁlvsaﬁﬁ
1,350%. 3T 894 & 1,620%. B AT & 1 98

oAUty fopal 37
(1) 1000%.
(2 1700%.

(3) 800%.

(4 900%.

TNABH

b4.

55.

(E4-14)

GET IT ON
Google Play

ABC is a triangle in which D is the mid
point of BC and E is the mid point of AD

D.

A

IO

D C

The area of AABC is equal to
4 times the area of A BED.

The area of A ADC is twice the area
of A BED.

The area of AADC is 4 times the
area of A BED.

The area of A ABC is twice the area
of ABED

Choose the correct answer from the
options given below.

1)
(2
@3)
(4)

D only
A only
B only
A and B only

A certain sum at simple interest amounts

to ¥ 1,350 in 5 years and to % 1,620 in
8 years. What is the sum?

(1)
(2
3)
)

¥ 1000
T 700
T 800
T 900
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56.

57.

58.

59.

A

TR TR Y W-T1 I A R A Read
@ ¥ 33 For g Rred B wft T w1

GET IT ON
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Four dice are thrown simultaneously. The
number of ways in which we get the total

sum 23 on all dices is:

(1) 62
@ 1
3) 4
@ 27

0.22x0.22%x0.22-0.02x0.02x0.02

0.22%0.22+0.22x0.02+0.02x0.02

(1)
(2)
3
(4)

0.11
0.02
0.20
0.22

F W 23 7
(1) 62
2 1
3) 4
(4) 27
0.22x0.22x 0.22-0.02x0.02x0.02 _ 517.
0.22x0.22+0.22x0.02+0.02x0.02
(1) 0.11
(2) 0.02
(3) 0.20
(4) 0.22
afe a+%=1 s b+l=1 %@ abe = | OB
C
HMH % :
1 1
2 -1
3 o
1
4 _—
(4) 5
a  a:b=2:1bic=1:3, c:d=2:3 | °%
a+b-c+e
M d:e=1:2 g b+c—d+e—
18
1 —_—
(1) 17
9
2 —_—
2 T
13
3 I
3) 18
1
4 —_
(4) T
(E4 - 15)
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If a+—t1;=1 and b+l=1, then value of
C

abc is
1) 1
@2 -1
3 O
1
4) 2

If a:b=2:1,b:c=1:3, c:d=2:3 and

d:e=1:2thenZT+f_;§%=
m
@ =
®
@ -
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60.

61.

62.

2l GEAI3 1 agad gaTdd 495 2 HIL IR
ugad guuEd 5 g1 gfe & @ensi 4 10 H
AT ? d 9 THI HEAT

(1) 40 3R 55

(2) 453 55

(3) 40 3R 50

(4) 45350

15 et afa 8¢ il 919 ¥ Teed g I8
e 9 e 20 e ¥ @ wEEal 2
TS R g8 A 91 5 el ufade e
Gataldige 5 e S0 A wgE@ 2 91 WA

-

(1) 20 FamL.
(2) . 5 Tl
(3) 10 el

~ o O, ¢

(4) 15Tl

35 €7 NS S T 1Y $& A@ g dl 38

fem afs @ BE M R S FA M

(3 12

(4) 18

60.

61.

62.

(E4 - 16)
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The LCM of two numbers is 495 and their
HCF is 5. If the difference of the numbers

is 10, then the two numbers are:

(1) 40 and 55
(2) 45 and 55
(3) 40 and 50

(4) 45 and 50

A boy walking at a speed of 15 kmph
reaches his school 20 minute later. Next
time he increases his speed by 5 kmph
but still he late by 5 minute. The distance

between his school and home is:

() 20km
2 5km

(3) 10km
(4) 15km

The number of ways in which we get

sum 15, when three dice are thrown

simultaneously, is

(1) 24
(2 10
3) 12
(4 18
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63.

64.

65.

)

63.
R IEH 4 TN FHH 5 ayed 3k A ae
TR T 1 R € A s are s
R ST B T 0 ) et 1 I R
(1) 3:1
(2 5:2
(3 2:1
4 17:3
o T A Hem i fw 3 SR | 64,
T ¥E ¥4 27, 35, 25 3N 218 s &1 ;-
4728
(2) 4722
(3) 4725
(4) 4720
81 3 I g W 1 AR R % PEE A | 65.
ST TR 999 H1 20 SRwa = fea A
Jaq § @ 20 whwa TR TEERft % @E W
=1 1 3t 10% U 9 TG # =5 H
Eaﬁm%mmm%,%oa‘ﬁq%
A s i A fRa &7
(1) 18,480%.
(2) 66,000%.
(3) 173,920%.
(4) 56,000%.
(B4 -17)

TNABH

GET IT ON
Google Play

5 men and 2 boys working together can
complete 4 times a work as a man and a
boy can do. The working capacity of a

man and a boy are in the ratio :

(1 3:1
2 5:2
3 2:1
4 17:3
The smallest number which when

increased by 3 and divisible by 27, 35, 25
and 211s:
(1) 4728
(2) 4722
(3) 4725
(4) 4720

Reena paid 20% of her monthly salary
towards EMI of house loan. From the
remaining salary she paid 20% as
household expenses and 10% on petrol.
After all these expenses, she is left with

£ 36,960. What was her monthly salary?

(1) ¥18,480
(2) 166,000
3 ¥73,920
(4) ¥56,000
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67.

68.
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A

afy 7sin®x+3cos?x=4, 0<x<90" &
tanx EHIH'-T%:

1)

@
3)

S I -

4

A 58 s guH T @ faada femad & s @
#) ot & S8 H e 40 X g W
3 93U § I 99 TH g & O A ol 8
A TS 99 H T &

(1) 40 foreft wfa g

2) 3‘1)—5;%#1;@'@

(3) 48Tt wfg =

4) SG%EﬁHﬁIEi‘?ﬁ‘

A 3 B 3 %O 2,400 &. 3T 3,600 %. I

PRT W B SaEE ¥ 61| SIEEE 3T

MFINMmEF I fom|CH
ZagE I Wit & & S9EE W BH &
8 W W€ B I 600 & I et il A
22,500 %. & a1fis @ § C T IK 8,000 3.
g C g v T Faw i @6

(1) 4,800%.
(2) 17,200%.
(3) 5,800%.
(4) 4,000%.

66.

67.

68.
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If 7sinx+3cos’x=4, 0<x<90°, then

the value of tanx, is

1
(1) 5
@ 2
3) 1
J3
(4) -

Two buses are running in opposite
direction’s with the same speed. If length
of each bus is 40 metres and they cross
each other in 3 seconds, then the speed of

each bus is:
(1) 40 km/h

@ 322 kmm
27

(3) 48 km/h
(4) 36km/h

A and B started a business by investing
Rs.2,400 and Rs. 3,600 respectively. At
the end of 4t month from the start,
C joined with Rs. x. After 8 months from
start of the business, B withdrew Rs. 600.
If C's share is Rs. 8,000 in annual profit
of Rs. 22,500 then amount invested by
Cis:

(I) Rs. 4,800

(2) Rs. 7,200

(3) Rs. 5,800

(4) Rs. 4,000
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W1,5oos.%@z@qaﬁ§m@ﬂ§l

@ 1,104 3. % Feet 0e3 9 o ¥ fime

9 =t bl et sl e & 9 =ie
1) 15%

2) 8%

(3) 10%

@ 12%

w13 AR 5 ag # 10% Fmw wogm@r 2
3 38 W 15% 72 33 i Swon s 2
Tt hIHd W TEg: fhaft gg & o

(1) 12.5%

2 5%

3) 6.5%

4) 7.5%

3 T fawa g € 3tk 3 s an

TN | G99 DI OH G g9 991 fauy
e | 9 Afus B Afe & 18 wit 3 fawm
gEqall & 3gd 1 911 < TS dF 99 gt
& g & o1 ¥ 507 FH & @ g8 B faw
T 9T i

1) 19
2 1
@) 13
4 17

aR x+l M x+2 TG ax’+br+c F

R (W) adl —aa++bb++cc -
® 5
2 -1
® 5
@ 3
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A man bought an article listed at ¥ 1,500

with a discount of 20% offered on the list
price. What additional discount must be
offered to the man to bring the net price
to ¥ 1,104?

(1) 15%
2 8%

(3) 10%
4 12%

A person first increases the price of a
goods by 10% and then he announces a
discount of 15%. The actual discount on

the original price, 1s:

(1) 12.5%
2 5%
(3) 6.5%
4 17.5%

There are 3 consecutive odd numbers and
3 consecutive even numbers. The
smallest even number is 9 more than
largest odd number. If the square of the
average of all the 3 given odd numbers is
507 less than the square of the average of
all the 3 given even numbers, then what
is the smallest odd number?

1 19
@ 1
(3 13
@ 17
If x+1 and x+2 are factors of
polynomial ax? +bx +c, then 2"
—-a+b+c
7
@ 5
@ -1
1
3) 5
3
(4) 3
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I8 ged ©1A gen =0 ¢ o 3,5, 6, 8,10 | 73,
3N 12 8 wm 33 W 2 99 Tl 2 3 AR 13
§ qofa: e g,
(1 722
2) 961
3) 962
(4) 842
gfe x§+y%=z%, x>0, y>0 I z2>0 74.
AN (x+y-2)° +27xyz HUH &
(1) Sx%y%z%
@ 27(x*y+xy°)
3) 27
@ 0
X T e =fEw 3 o oefl, @ @ I |75
w i % d9 79 @A faafa e ot =
¥ R0 39 @9 @l Fo g0 H 20 S
38} Fh ool &1 fen 3 gEew 22 wfaw
AT @A % fT W@ q e H60% I
) gt & iz e afv S ety st g
F ol Ak @ G F oW TE W W
R @ 2,940 5. i fen d I T A
% et et gt =1 foan feman?
(1) 85,260%.
(2) 87,178%.
(3) 86,800%.
(4) 87,108%.
(E4 - 20)
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The least number which when divided by
3, 5, 6, 8, 10 and 12 Jeaves the remainder

2 and completely divisible by 13, is:

(1) 722
(2) 961
(3) 962
(4) 842

1 1
If x3+y%=2%, x>0, y>0 and z>0,

| =

then value of (x +y—2)* +2Txyz, is:
111

(1) 3x%y323

@ 27(’y+x")

3) 27

4 0

Mr. X distributed some money among his
wife, two sons and one daughter and also
kept some money for himself. 20% of the
total money that he had, he gave to his
wife and kept 22% of it for himself
60% of the
distributed among his two sons and gave

the remaining to his daughter. If the

remaining money he

daughter got T 2,940 more money he kept
for himself, then what was the total
money that he distributed among his

sons?
(1) 85,260

(2) 87,178
(38) 86,800
(4) 87,108
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76. Choose the option

. with ) , . i s
spelling of the word: 16 correct [ 80, Tor the given definition, choose the correct
(1) Predilection alternative from the following options,
' ‘Capable of being ) in ei
@  Prediliction Capable of being understood in either of

two, or more possible, senses’?
(3)  Predalection

, (1)  Confusing
(4)  Pridilection

A(2) Amphibious
(3) Ambiguous

77. From the optiong provided
that best expl
phrase:

choose the one (4)  Amorphous

ains the underlined idiom /

81. Choose the correct alternative from the

As usual he is blowing hi
owing his own trumpet. given options for the underlined part of

(1) Praising himself and others the sentence :
(2) Refusing to wuse anybody else’s The musical show already began when we
trumpet arrived in the hall.

(3) Playing a tune on the trumpet 1) has begun

ﬁi) Praising himself _2) had already begun

(3) had already began
78. From the options provided choose the one (4) would begin

that best explains the underlined idiom /
phrase:

82. Complete the following sentence with the

Look sharp, otherwise you will miss the most appropriate form of the verb.

train. Drafting an objective type question is a
(1)  Dress smartly skill which by you with a lot of
-{(2)~ Be careful practice.
\(3) Look smart (1) may be acquired
J4) Hurry up . 2 ‘ should be acquired
(3) can be acquired
79. Till in the blank with the most suitable (4)  will be acquiring
word:
Fifty thousand rupees 2 large 83. Choose the correct option.
sum. He welcomed me to his office.
(1) were He said,
£2) are (1) “you are welcome here”.
@) s (2) “welcome back”. »
(4) was | _A3)" “welcome to my office”.

(4) “please come in”.

TNABH ®4-20
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Directions: (Q.84 - 88) Read the passage
given below and answer the questions
that follows with the most appropriate
response.

(i) India continues to enjoy the No. 1
position as the leading information
technology, business outsourcing
and consulting destination of the
past two decades. In fact, the other
emerging powerhouses of the BRIC
nations are all hot destinations for
future investments.

(i) But we cannot rest on our laurels.
It is imperative that we strive to
become the finest research hub the
world has ever seen. We can achieve
this distinction by investing in our
schools — the places where future
generations will develop the skills
and resources that will drive our
country’s economic growth.

(iii) The Royal Society’s seminal 2011
report, ‘Knowledge, Networks and
Nations: Global Scientific
Collaboration in the 21st Century’,
states that even in the difficult
economic times we now face,
national governments need to
maintain investment in their science
base “in order to secure economic
prosperity, tap into new sources of
innovation and growth, and sustain
vital connections across the global
research landscape.”

(iv) Currently, a mere 0.25% of India’s
GDP is spent on research and
development (R & D). The government
proposes to step this up to 2% of
GDP, with half of that amount
coming from private industry and
half from the public sector. While
admirable in its intentions, the goal
falls short. Israel, for example,
spends 6% of its GDP on scientific
research. Switzerland and Sweden
both spend 4% of their GDPs on
research, and even China is
approaching 2%. -

TNABH (E4-22)

(v)

(vi)

(vii)

GET IT ON
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India is in danger of falling behind
other nations in the race to build an
advanced, 21t century economy.
True, the country has increased its
expenditures on education as a
percentage of GDP to 4% during the
2011-12 school year from 3.3% in
2004-05. But compared to the other
BRIC countries, we need to do more.
Brazil, for instance, spends some
5.7% of its GDP on education.
Smaller developing nations like
Ethiopia spend 4.7%, and even
Botswana spends 7.8% of its GDP on
education, according to the World
Bank.

Make no mistake: India needs a
sustainable pipeline of scientific
research. To build this pipeline, it is
imperative to have strong investments
in education. A population grounded
in the sciences will strengthen our
industries and government. Our
nation will have home-grown minds
working on the myriad problems
facing society and improving the
lives of everyone. The responsibility
for this task lies not just with
government but with private
industry, schools, families and
individuals.

I encourage young scientists and
students to consider careers in
research — whether in corporate
laboratories or academic institutions.
In the private sector, my colleagues
and I set up the Infosys Science
Foundation (ISF), a not-for-profit
trust, to promote scientific research
in India. The ISF has set up a series
of public lectures by the winners of
the Infosys Prize that we hope will
kindle a spark of interest in young
minds. We hope also to make role
models of the Infosys Prize winners —
the Sachin Tendulkars of science, if
you will — that youngsters will want
to follow.
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lﬂ C¢ <
8. Ind "m look  for future  pbusiness
outsourcing Obportunities ip:
smaller y 1
(1) smaller developing nations like

Ethiopia

(/2) the emerging Powerhouses of the
/ BRIC nations

(3)  the royal society

(4)  Switzerland and Sweden

85. The Royal Society’s report has indicated
that national Governments need to:

(1) have strong investments in America

(2) develop skills and resources like
western nations o

(3) encourage young scientists to go

abroad
}4)

maintain investment in their basic
scientific foundation

86. To build a strong pipeline in scientific
research, India needs to do more by:

/(&’)/ investing strongly in education

(2) getting scientists from developing
nations like Botswana

(3) setting up a series of public lectures
by scientists

(4) building an advanced 21%* century

economy

87. India spends its GDP on R&D.
(1) 2%
2 6%
@) 3%

A4 0.25%

TNABH
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88. India has increased its expenditure on
education as a percentage of GDP to:

(1) 4.7%in 2011-12

(2) 3.3%in 2011-12

(3) 4.5%in 2011-12
@) 4%in2011-12

Directions: (Q.89 — 93)

In the passage below there are blanks,
each of which has been numbered. These
numbers are printed below the passage.
Against each of these numbers four words
are suggested, one of which fits the blank

space appropriately. Choose the
appropriate word in each case.
Agriculture is a (89 sector of our

economy and credit plays an important
role in increasing agriculture production.
Availability and access to adequate, timely
and low cost credit from institutional

sources is of great (90 especially
to small and marginal farmers. Along with
other 1inputs, credits essential for
establishing sustainable and

(91 farming systems. Most

farmers are small produce engaged in

agricultural activities in areas of widely
(92

shown that of access to financial services

at affordable cost (93)

productivity, asset formation and income

potential. Experience has
affects
and food security of the rural poor.

89. (1)

(2) non-traditional

proven

(3) tertiary

(4) dominant

(E4 - 23)
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90. (1)
(2) wview

(3) 1mportance

source

(4) urgency
91. /(J’)/ profitable
(2) 1isolated
(3) apportioned

(4) object
e .

92. A1) varying
(2) justified
(3) true
(4) most

93. \(1) positively
(2) seldom

(3) meagrely

(4) negatively
94. Identify the grammatically correct
sentence from the following :

(1) The work is to much for any person
to do single handedly

(2) The tops of the mountains was
covered with snow

\(@,r’ I like the little pedlar which has a

crooke nose

f4)y His knowledge of Indian languages
v is far beyond the ordinary

95. Fill in the blanks with the most suitable
phrase from the options provided.

When the Education Minister entered the
class some of the pupils

1) quaked with joy
(2) quaked in their minds
(8) quaked in their shoes
(4) quaked in their shirts

GET IT ON
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96. Identify the error in the Homwir
VRIS Jiit) Ny
sentence marked as sections AP C i i')’
ne s, 1,0 and
and choose the correct response from 1)
ASYOINEE IO the

option provided,

The government (A) | planning to (5 /
get up family welfare centres (C)
for elums in citics (1))

(1 D
2) A
~3) B
4) C
97. Identify the error in the following

sentence marked as sections A, B, C and )
and choose the correct rezponse from the
option provided.

They were swifter (A) / than ezgles; (B)

they were strong (C) / than lions (D)

(1) D
(2 A
(3 B
H4) C

98. Choose the option that is a synonym for
the given word:

INDOLENCE
(1) Insufficiency

A%  Sloth

(3) Embarrassment
(4) Involvement

99. Choose the option that is an antonym for
the given word:

SINISTER

(1) Malevolent
(2) Right

(3) Sinful

Ay Auspicious

100. Choose the option with the correct

gpelling of the word:
(1) Ingredeint
_42) Ingredient

(3) Ingridient
(4) Ingreedient

TNABH
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